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We show that it is possible to produce strong gravitational accelerations on the free electrons of a 
conductor in order to obtain electrical current. This allows the conversion of gravitational energy directly 
into electrical energy. Here, we propose a system that can produce several tens of kilowatts of electrical 
energy converted from the gravitational energy.  
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1. Introduction 
 
          In a previous paper [1], we have 
proposed a system to convert gravitational 
energy into rotational kinetic energy 
(Gravitational Motor), which can be 
converted into electrical energy by means of 
a conventional electrical generator. Now, we 
propose a novel system to convert 
gravitational energy directly into electrical 
energy.    
           It is known that, in some materials, 
called conductors, the free electrons are so 
loosely held by the atom and so close to the 
neighboring atoms that they tend to drift 
randomly from one atom to its neighboring 
atoms. This means that the electrons move in 
all directions by the same amount. However, 
if some outside force acts upon the free 
electrons their movement becomes not 
random, and they move from atom to atom at 
the same direction of the applied force. This 
flow of electrons (their electric charge) 
through the conductor produces the electrical 
current, which is defined as a flow of electric 
charge through a medium [2]. This charge is 
typically carried by moving electrons in a 
conductor, but it can also be carried by ions 
in an electrolyte, or by both ions and 
electrons in a plasma [3].   
          Thus, the electrical current arises in a 
conductor when an outside force acts upon 
the free electrons. This force is called, in a 
generic way, of electromotive force (EMF). 
Usually, it is of electrical nature ( ) .  eEF =

 
 
 
Here, it is shown that the electrical flow can 
also be achieved by means of gravitational 
forces ( )gmF e= . The Gravitational 
Shielding Effect (BR Patent Number: 
PI0805046-5, July 31, 2008 [4]), shows that 
a battery of Gravitational Shieldings can 
strongly intensify the gravitational 
acceleration in any direction and, in this way, 
it is possible to produce strong gravitational 
accelerations on the free electrons of a 
conductor in order to obtain electrical 
current.  
  
2. Theory 
 
          From the quantization of gravity it 
follows that the gravitational mass mg and 
the inertial mass mi are correlated by means 
of the following factor [1]: 
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where  is the rest inertial mass of the 
particle and 

0im
pΔ  is the variation in the 

particle’s kinetic momentum;  is the speed 
of light.   

c

          When pΔ  is produced by the 
absorption of a photon with wavelengthλ , it 
is expressed by λhp =Δ . In this case, Eq. 
(1) becomes 
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where cmh i00 =λ  is the De Broglie 
wavelength for the particle with rest inertial 
mass .   0im
           It has been shown that there is an 
additional effect - Gravitational Shielding 
effect - produced by a substance whose 
gravitational mass was reduced or made 
negative [5]. The effect extends beyond 
substance (gravitational shielding) , up to a 
certain distance from it  (along the central 
axis of gravitational shielding). This effect 
shows that in this region the gravity 
acceleration, , is reduced at the same 
proportion, i.e.,

1g
gg

11 χ=  where 

01 ig mm=χ  and  is the gravity 
acceleration before the gravitational 
shielding).  Consequently, after a second 
gravitational shielding, the gravity will be 
given by

g

ggg
21122 χχχ == , where 

2
χ  is 

the value of the ratio 0ig mm for the second 
gravitational shielding. In a generalized way, 
we can write that after the nth gravitational 
shielding the gravity, , will be given by ng
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          This possibility shows that, by means 
of a battery of gravitational shieldings, we 
can make particles acquire enormous 
accelerations.  In practice, this can lead to the 
conception of powerful particles accelerators, 
kinetic weapons or weapons of shockwaves. 
          From Electrodynamics we know that 
when an electromagnetic wave with 
frequency and velocity  incides on a  
material  with relative  permittivity 

f c

rε , 
relative magnetic permeability rμ  and 
electrical conductivity σ , its velocity is 
reduced to rncv =  where  is the index of 
refraction of the material, given by [

rn
6]  
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If  ωεσ >> , fπω 2= , Eq. (4) reduces to 
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Thus, the wavelength of the incident 
radiation (See Fig. 1) becomes 
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Fig. 1 – Modified Electromagnetic Wave. The 
wavelength of the electromagnetic wave can be
strongly reduced, but its frequency remains the same.

v = c v = c/nr 

λ = c/f λmod = v/f = c/nr f

nr 

  
        If a lamina with thickness equal toξ  
contains  atoms/mn 3, then the number of 
atoms per area unit is ξn . Thus, if the 
electromagnetic radiation with frequency 

incides on an area  of the lamina it 
reaches
f S

ξnS  atoms. If it incides on the total 
area of the lamina, , then the total number 
of  atoms reached by the radiation is 

fS

ξfnSN = .  The number of atoms per unit of 
volume, , is given by n
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where  is the 
Avogadro’s number; 

kmoleatomsN /1002.6 26
0 ×=

ρ  is the matter density 
of the lamina (in kg/m3) and A is the molar 
mass(kg/kmole).                
          When an electromagnetic wave incides 
on the lamina, it strikes  front atoms, 
where

fN
( ) mff SnN φ≅  , mφ  is the “diameter” of 

the atom. Thus, the electromagnetic wave 
incides effectively on an area  , where mf SNS=

2
4
1

mmS πφ=  is the cross section area of one atom. 
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After these collisions, it carries out  
with the other atoms (See Fig.2).   

collisionsn

 
 
  
 
 
 
 
 
 
 
Fig. 2 – Collisions inside the lamina.   
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Thus, the total number of collisions in the 
volume ξS is 
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The power density, , of the radiation on the 
lamina can be expressed by 

D
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           We can express the total mean number 
of collisions in each atom, , by means of 
the following equation  

1n

 

( )101 N
Nn

n collisionsphotonstotal=

 
Since in each collision a momentum λh  is 
transferred to the atom, then the total 
momentum transferred to the lamina will be 

( ) λhNnp 1=Δ . Therefore, in accordance 
with Eq. (1), we can write that 
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Since Eq. (8) gives ξSnN lcollisions = , we get 

( ) (122 ξSn
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PNn lcollisionsphotonstotal ⎟⎟
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Substitution of Eq. (12) into Eq. (11) yields 
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Substitution of P given by Eq. (9) into Eq. 
(13) gives 
 

( )

( ) ( )
( )1411121

2

0
2

0 ⎪
⎭

⎪
⎬

⎫

⎪
⎩

⎪
⎨

⎧

⎥
⎥
⎥

⎦

⎤

⎢
⎢
⎢

⎣

⎡
−

⎥
⎥
⎦

⎤

⎢
⎢
⎣

⎡
⎟
⎟
⎠

⎞
⎜
⎜
⎝

⎛
⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
+−=

λ
ξ
cm

Sn
f

DSN
m
m

li

lmf

li

lg

 
Substitution of ( ) mflf SnN φ≅  and mf SNS =   
into Eq. (14) results 
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where ( ) ( ) ( )llli Vm ρ=0 .  
         Now, considering that the lamina is 
inside an ELF electromagnetic field with 
E and B , then we can write that [7] 
 

( ) ( )16
2 0

2

c
En

D lr

μ
=  

 
Substitution of Eq. (16) into Eq. (15) gives 
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In the case in which the area is just the 
area of the cross-section of the lamina

fS
( )αS , 

we obtain from Eq. (17), considering that 
( ) ( ) ξρ αSm lli =0 , the following expression 
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 According to Eq. (6) we have 
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Substitution of Eq. (19) into Eq. (18) gives  
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Note that tEE m ωsin= .The average value 
for 2E  is equal to 2

2
1

mE  because E  varies 
sinusoidaly (   is the maximum value 

for
mE

E ). On the other hand, 2mrms EE = . 
Consequently we can change 4E  by , 
and the equation above can be rewritten as 
follows 

4
rmsE
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          Now consider the system shown in 
Fig.3. It was designed to convert 
Gravitational Energy directly into Electrical 
Energy. Thus, we can say that it is a 
Gravitational EMF Source. 
          Inside the system there is a dielectric 
tube ( 1≅rε ) with the following characteristics: 

mm8=α (diameter), 252 1003.54 mS −×==παα . 
Inside the tube there is a Lead sphere 
( ) with 4mm radius and 
mass 

3/11340 mKgs =ρ
kgM gs

31004.3 −×= . The tube is filled 
with air at ambient temperature and 1atm. 
Thus, inside the tube, the air density is 

( )22.2.1 3−= mkgairρ
The number of atoms of air (Nitrogen) per 
unit of volume, , according to Eq.(7), is 
given by 

airn

 

( )23/1016.5 3250 matoms
A

N
n

N

air
air ×==

ρ

          The parallel metallic plates (p), shown 
in Fig.3 are subjected to different drop 
voltages. The two sets of plates (D), placed 
on the extremes of the tube, are subjected to  
( ) VV rmsD 72134 .= at Hzf 60= , while the 

central set of plates (A) is subjected to 
( ) VV rmsA 98273 .=  at Hzf 60= . Since 

mmd 14= , then the intensity of the electric 
field, which passes through the 36 cylindrical 
air laminas (each one with 5mm thickness) 
of the two sets (D), is  

( ) ( ) mVdVE rmsDrmsD /. 3106239 ×==

and the intensity of the electric field, which 
passes through the 19 cylindrical air laminas 
of the central set (A), is given by  

( ) ( ) mVdVE rmsArmsA /. 4109571 ×==

          Note that the metallic rings (5mm 
thickness) are positioned in such way to 
block the electric field out of the cylindrical 
air  laminas. The objective is to turn each one 
of these laminas into a Gravity Control Cells 
(GCC) [5]. Thus, the system shown in Fig. 3 
has 3 sets of GCC. Two with  18 GCC each,  
and one with 19 GCC. The two sets with 18 
GCC each are positioned at the extremes of 
the tube (D). They work as gravitational 
decelerator while the other set with 19 GCC 
(A) works as a gravitational accelerator, 
intensifying the gravity acceleration 
produced by the mass of the Lead 
sphere. According to Eq. (3), this gravity, 
after the GCC becomes 

gsM

th19 2
0

19
19 rGMg gsχ= , 

where ( ) ( )lilg mm=χ  given by Eq. (21) and 
mmr 90 =  is the distance between the center 

of the Lead sphere and the surface of the first 
GCC of the set (A).  
          The objective of the sets (D), with 18 
GCC each, is to reduce strongly the value of 
the external gravity along the axis of the 
tube. In this case, the value of the external 
gravity, , is reduced by the factor , 

where 
extg extd g18χ

210−=dχ . For example, if the base 
BS of the system  is  positioned  on  the Earth  
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Fig. 3 – A Gravitational EMF Source (Developed from a process patented in July, 31 2008, PI0805046-5) 
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surface, then  is reduced 

to and, after the set A, it is increased 
by . Since the system is designed for 

2/81.9 smgext =

extd g18χ
19χ

4138.6−=χ , then the gravity acceleration 
on the sphere becomes 

, this value is much 
smaller than 

2201819 /101.2 smgextd
−×=χχ

282 /1027.1 smrGMg sgssphere
−×== .  

          The values of χ  and dχ , according to 
Eq. (21) are given by  
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where ( ) 1≅= rrairrn με , since ( )ωεσ << *; 

, , 325 /1016.5 matomsnair ×= mm
101055.1 −×=φ

2202 1088.14 mS mm
−×==πφ  and Hzf 60= . 

Since  and 

, we get  
( ) mVE rmsA /. 4109571 ×=

( ) mVE rmsD /. 3106239 ×=

( )264138.6−=χ
 
and 
 

( )2710 2−≅dχ  
          Note that there is a uniform magnetic 
field, B , through the Iron rod. Then, the 
gravitational forces due to the gravitational 
mass of the sphere ( )gsM  acting on electrons 

                                           
* The electrical conductivity of air, inside the 
dielectric tube, is equal to the electrical conductivity 
of Earth’s atmosphere near the land, whose average 
value is mSair /101 14−×≅σ [8]. 

( )eF , protons ( )pF  and neutrons ( )pF  of 
the Iron rod, are respectively expressed by 
the following relations   

( )282
0

7
⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
==

r
M

GmamF gs
eBeegee χχ

 

( )292
0

7
⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
==

r
M

GmamF gs
pBppgpp χχ

 

( )302
0

7
⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
==

r
M

GmamF gs
nBnngnn χχ

The factors Bχ  are due to the electrons, 
protons and neutrons are inside the magnetic 
field B.  
          In order to make null the resultant of 
these forces in the Iron (and also in the 
sphere) we must have , i.e.,  npe FFF +=

( )31BnnBppBee mmm χχχ +=
          It is important to note that the set with 
19 GCC (A) cannot be turned on before the 
magnetic field B is on. Because the 
gravitational accelerations on the Iron rod 
and Lead sphere will be enormous 
( )262

0
19 /104.5 smrGM gs ×≅χ , and will 

explode the device.   
          The force  is the electromotive force 
(EMF), which produces the electrical current. 
Here, this force has gravitational nature. The 
corresponding force of electrical nature 
is

eF

eEFe = . Thus, we can write that 
( )32eEam ege =

The electrons inside the Iron rod (See Fig. 3) 
are subjected to the gravity acceleration 
produced by the sphere, and increased by the 
19 GCC in the region (A). The result is 

( )332
0

1919

r
M

Gga gs
se χχ ==

Comparing Eq. (32) with Eq.(33), we obtain 

( )342
0

19

r
M

G
e

m
E gsge χ⎟⎟

⎠

⎞
⎜⎜
⎝

⎛
=

The electron mobility, eμ , considering 
various scattering mechanisms can be 
obtained by solving the Boltzmann equation 
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in the relaxation time approximation. The 
result is [9] 

( )35
ge

e m
e τ

μ =

where τ  is the average relaxation time over 
the electron energies and  is the 
gravitational mass of electron, which is the 
effective mass of electron.  

gem

          Since τ  can be expressed by 
2nemgeστ =  [10], then Eq. (35) can be 

written as follows 

( )36
nee
σμ =

Thus, the drift velocity will be expressed by  

( )372
0

19

r
M

G
e

m
ne

Ev gsge
ed χσμ ⎟⎟

⎠

⎞
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⎝

⎛
==

and the electrical current density expressed 
by 

( )382
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r
M
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m
vj gsge

irondqee χσρ ⎟⎟
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⎛
==

where neqe =ρ , and  eBege mm χ= . 
Therefore, Eq. (38) reduces to 

( )392
0

19

r
M
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m
j gs
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e

irone χχσ ⎟
⎠

⎞
⎜
⎝

⎛=   

In order to calculate the expressions of 
Beχ , Bpχ  and Bnχ   we start from Eq. (17), for 

the particular case of single electron in the region 
subjected to the magnetic field B (Iron rod). In 
this case, we must substitute  by ( )lrn

( )( )2
1

04 fn ironironrriron πεσμ= ln;  by 
3

3
411 ee rV π=   (  is the electrons radius),  

by 
er fS

( ) eee VSSA ρ   ( is the specific surface 
area for electrons in this case: 

eSSA

eeeeeeeee VrVAmASSA ρπρ 2
2
1

2
1 2=== ), 

 by , mS 2
ee rS π= ξ  by em r2=φ  and  

by . The result is 
( )lim 0

em

( )401
56.45

121 24422
0

4242

⎪⎭

⎪
⎬
⎫

⎪⎩

⎪
⎨
⎧

⎥
⎥
⎦

⎤

⎢
⎢
⎣

⎡
−+−=

λμ
π

χ
fcm

Enr

e

rirone
Be

Electrodynamics tells us that 
( )( ) rmsironrrmsrms BncvBE == , and Eq. (19) 

gives ( )fironironσμπλλ 4mod == . Substitution 
of these expressions into Eq. (40) yields 

( )41156.45121 2222
0

442

⎪⎭

⎪
⎬
⎫

⎪⎩

⎪
⎨
⎧

⎥
⎥
⎦

⎤

⎢
⎢
⎣

⎡
−+−=

fcm
Br

e

rmse
Be μ

πχ

Similarly, in the case of proton and neutron 
we can write that 

( )421
56.45

121
2222

0

442

⎪⎭

⎪
⎬
⎫

⎪⎩

⎪
⎨
⎧

⎥
⎥

⎦

⎤

⎢
⎢

⎣

⎡
−+−=

fcm

Br

p

rmsp
Bp μ

π
χ

 

( )431
56.45

121
2222

0

442

⎪⎭

⎪
⎬
⎫

⎪⎩

⎪
⎨
⎧

⎥
⎥
⎦

⎤

⎢
⎢
⎣

⎡
−+−=

fcm
Br

n

rmsn
Bn

μ
π

χ

The radius of free electron is mre
141087.6 −×=  

(See Appendix A) and the radius of protons 
inside the atoms (nuclei) is mrp

15102.1 −×= , 

pn rr ≅ , then we obtain from Eqs. (41) (42) 
and (43) the following expressions: 

( )4411049.8121
2

4
4

⎪⎭

⎪
⎬
⎫

⎪⎩

⎪
⎨
⎧

⎥
⎥
⎦

⎤

⎢
⎢
⎣

⎡
−×+−=

f
Brms

Beχ

( )4511035.2121
2

4
9

⎪⎭

⎪
⎬
⎫

⎪⎩

⎪
⎨
⎧

⎥
⎥
⎦

⎤

⎢
⎢
⎣

⎡
−×+−=≅ −

f
Brms

BpBn χχ

Then, from Eq. (31) it follows that   
( )462 BppBee mm χχ ≅

Substitution of Eqs. (44) and (45) into Eq. 
(46) gives  

( )473.3666

11035.2121

11049.8121

2

4
9

2

4
4

=

⎪⎭

⎪
⎬
⎫

⎪⎩

⎪
⎨
⎧

⎥
⎥
⎦

⎤

⎢
⎢
⎣

⎡
−×+−

⎪⎭

⎪
⎬
⎫

⎪⎩

⎪
⎨
⎧

⎥
⎥
⎦

⎤

⎢
⎢
⎣

⎡
−×+−

−

f
B

f
B

rms

rms

For Hzf μ1= , we get 

[ ]{ }
[ ]{ } ( )483.3666

11035.2121

11049.8121
47

46

=
−×+−

−×+−
−

rms

rms

B

B

whence we obtain 
( )495.2 TmBrms =

Consequently, Eq. (44) and (45) yields 
( )503.3666−=Beχ

and 
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( )51999.0≅≅ BpBn χχ

In order to the forces  and  have 
contrary direction (such as occurs in the 
case, in which the nature of the electromotive 
force is electrical) we must have 

eF pF

0<Beχ  
and 0>≅ BpBn χχ  (See equations (28) (29) 
and (30)), i.e., 

( )52011049.8121 2

4
4 <

⎪⎭

⎪
⎬
⎫

⎪⎩

⎪
⎨
⎧

⎥
⎥
⎦

⎤

⎢
⎢
⎣

⎡
−×+−

f
Brms

and  

( )53011035.2121 2

4
9 >

⎪⎭

⎪
⎬
⎫

⎪⎩

⎪
⎨
⎧

⎥
⎥
⎦

⎤

⎢
⎢
⎣

⎡
−×+− −

f
Brms

This means that we must have 
( )5486.15106.0 fBf rms <<

In the case of HzHzf 6101 −== μ the result is 
( )55151.0105.6 5 TBT rms <<× −

          Note the cylindrical format (1turn, 
) of the inductor (Figs. 3 and 6). By 

using only 1 turn it is possible to eliminate 
the capacitive effect between the turns. This 
is highly relevant in this case because the 
extremely-low frequency 

mmr 5=

Hzf μ1=  would 
strongly increase the capacitive reactance 
( ) associated to the inductor.  When a 
current  passes through this inductor, the 
value of 

CX
i

B  inside the Iron rod is given by 
Br xiB 0μμ=  where  is 

inductor’s length and 
mmxB 100=

4000=rμ (very pure 
Iron). However, the effective permeability is 
defined as ( ) ( ) mrreffr N11 −+= μμμ , where  is 
the average demagnetizing factor [

mN
11]. Since 

the iron rod has 5mm diameter and 100mm 
height, then we obtain the factor 

205/100 == mmmmγ  which gives 02.0=mN  
(See table V[12]). Therefore, we obtain 

( ) 4.49=effrμ . Thus, for mTBrms 5.2=  (See Eq. 
(49)) ,i.e., ( ) mTxiB Beffr 5.20 == μμ , the value 
of  must be i Ai 4= . Then, the resistor in  
Fig.3. must have Ω= 5420 AV . The 
dissipated power is 80W. 
          Let us now calculate the current 
density through the Iron rod (Fig. 3). 
According to Eq. (39) we have  

 

2
0

19

r
M

G
e

m
j gs

Be
e

irone χχσ ⎟
⎠

⎞
⎜
⎝

⎛=

 
Since , mSiron /1003.1 7×=σ 4138.6−=χ , 

3.3666−=Beχ , kgM gs
31004.3 −×=  and 

mmr 90 = , we obtain 
26 /10164.1 mAje ×=

Given that 252 1003.54 mS −×==παα we get 
 

ASji esource 6.58≅= α

 
         The resistance of the Iron rod  is 

Ω×=⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
= −41093.1

ασ S
xR

iron

B
source

Thus, the dissipated power by the Iron rod is  
( )5666.02 WiRP sourcesourced ≅=

          Note that this Gravitational EMF 
source is a Current Source. As we known, a 
Current Source is a device that keeps 
invariable the electric current between its 
terminals. So, if the source is connected to an 
external load, and the resistance of the load 
varies, then the own source will increase or 
decrease its output voltage in order to 
maintain invariable the value of the current in 
the circuit.   

 

  
 
 
 
 
 
 
 
 

Fig. 4 – Current Source 

Vsource  ~  isource

Rsource 

R 
Load 

 V 

 
          Based on Kirchhoff’s laws we can 
express the electric voltage between the 
terminals of the Current Source, , by means 
of the following relation (See Fig.4): 

sV

ViRV sourcesourcesource +=
where  is the voltage applied on the 
charge.  

V

          The transformer  connected to 
Gravitational EMF Source (See Fig. 3) is 

T
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designed† to make the voltage 

. Since , then 
we can write that  . Thus, in the 
primary circuit, the voltage is 

 and the current is 
; the winding turns ratio 

is

HzkVV 60@2.2= ViR sourcesource <<
VVsource ≅

kVVVV sourcep 2.2=≅=

Aii sourcep 6.58==

10=sp NN ; thus, in the secondary circuit 
the output voltage is HzVVs 60@220= and 
the current is Ais 586= . Consequently, the 
source output power is 

kWiVP ss 9.128==
          Note that, in order to initializing the 
Gravitational EMF Source, is used an 
external source, which is removed after the 
initialization of the Gravitational EMF 
Source.   
          Now it will be shown that this 
Gravitational EMF source can be 
miniaturized.   
          We start making  and mmxB 10=

mm5.0=ξ ; mm2=α ,  , mmdA 8= mmdD 16=  
and mmr 5.10 =  (See Fig. 5). The sphere with 
2mm diameter is now of Tungsten carbide 
(W+Cobalt) with  density. 

Then

3/630,15 mkg
kgMgs

51054.6 −×=  and 261014.3 mS −×=α  . 
Thus, for Hzf μ1=   Eq.(21) gives 

( ) ( )57110032121 43
⎭
⎬
⎫

⎩
⎨
⎧

⎥⎦
⎤

⎢⎣
⎡ −×+−= −

rmsAE.χ

          For ( ) mVV rmsA 593.= and mmdA 8=  we 
get , and Eq. (57) yields ( ) mVE rmsA /.68811=

236.6−=χ
For ( ) mVV rmsD 593.=  and mmdD 16=  we get 

 and ( ) mVE rmsD /.8445= 010.−≅dχ .  

                                           
† The impedances are respectively,  

( ) Ω==≅ 36.1422 2
0 ppprpp lANffLZ μμππ  

( ) Ω×==≅ −42
0 10154.622 sssrss lANffLZ μμππ

( ) ( ) Ω=+=+= 56.37ssppreflectedptotalp ZNNZZZZ
 where 60=rμ  (iron cast), 100=pN , 10=sN , 

,mll sp 18.0== mmp 6.107=φ , mms 8.136=φ , 

, .  20091.0 mA p = 20147.0 mAs =
 

        Since  and mSiron /1003.1 7×=σ
3.3666−=Beχ , then the value of  is  ej

25

2
0

19

/1029.5 mA

r
M

G
e

m
j gs

Be
e

irone

×=

=⎟
⎠
⎞

⎜
⎝
⎛= χχσ

and 
ASji esource 66.1≅= α

 
          The resistance of the iron rod is given by 

Ω×=⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
= −4101.3

ασ S
xR

iron

B
source

Thus, the dissipated power by the Iron rod is  
mWiRP sourcesourced 9.02 ≅=           

In the case of the miniaturized source, the 
iron rod has 2mm diameter and 10mm 
height, then we obtain the factor 

52/10 == mmmmγ  which gives 
06.0=mN (See table V[12]). Therefore, we 

obtain ( ) 6.16=effrμ .  
          Since mVVVV rmsDrmsAs 593.)()( ===   
and the resistance of the resistor 1R  is 

mWm 31/6.21 Ω  (See Fig.5), then the current 
from the first source is Ai 2.1= . Thus, we get 

( ) mTxiB Beffr 5.20 == μμ . 
          Since the current through the second 
source is Aisource 66.1= , and, if the voltage 
required by the charge, is VV 7.3= (usual 
lithium batteries’ voltage), then the source 
voltage is given by 

VViRV sourcesourcesource 7.3≅+=
Consequently, the miniaturized source can 
provide the power: 

( ) WAViVP sorcesource 1.666.17.3 ≅==
This is the magnitude of the power of lithium 
batteries used in mobiles. Note that the 
miniaturized source  of Gravitational EMF 
does not need to be recharged and it 
occupies a volume (8mm x 70mm x 80mm. 
See Fig.6) similar to the volume of the 
mobile batteries. In addition, note that the 
dimensions of this miniaturized source can 
be further reduced (possibly down to a few 
millimeters or less).  
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Fig. 5 – A Miniaturized Source of Gravitational EMF  
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Fig. 6 – Schematic Diagram in 3D of the Gravitational EMF Sources 
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Appendix A: The “Geometrical Radii” of Electron and Proton 
 
          It is known that the frequency of 
oscillation of a simple spring oscillator is  
 

( )1
2
1 A

m
Kf

π
=

 
where  is the inertial mass attached to the 
spring and 

m
K  is the spring constant (in 

N·m−1). In this case, the restoring force 
exerted by the spring is linear and given by  
 

( )2AKxF −=
 
where x  is the displacement from the 
equilibrium position. 
          Now, consider the gravitational force: 
For example, above the surface of the Earth, 
the force follows the familiar Newtonian 
function, i.e., 2rmGMF gg⊕−= , where 

the mass of Earth is,  is the 
gravitational  mass of a particle and 

⊕gM gm
r is the 

distance between the centers. Below Earth’s 
surface the force is linear and given by 

( )3
3

Ar
R

mGM
F gg

⊕

⊕−=

where  is the radius of Earth.  ⊕R
          By comparing (A3) with (A2) we 
obtain 

( )4
3

A
x
r

R

GM

m
K

m
K g

g
⎟
⎠
⎞

⎜
⎝
⎛==

⊕

⊕

χ

Making , and substituting (A4) 
into (A1) gives 

⊕== Rrx

 

( )5
2
1

3 A
R

GM
f g

⊕

⊕=
χ

π
 
In the case of an electron and a positron, we 
substitute  by , ⊕gM gem χ  by eχ and  by 

, where  is the radius of electron (or 
positron). Thus, Eq. (A5) becomes 

⊕R

eR eR

 
 

( )6
2
1

3
A

R

Gm
f

e

egeχ
π

=

The value of eχ  varies with the density of 
energy [1]. When the electron and the 
positron are distant from each other and the 
local density of energy is small, the value of 

eχ  becomes very close to 1. However, when 
the electron and the positron are penetrating 
one another, the energy densities in each 
particle become very strong due to the 
proximity of their electrical charges e  and, 
consequently, the value of eχ  strongly 
increases. In order to calculate the value of 

eχ under these conditions ( ), we 
start from the expression of correlation 
between electric charge  and gravitational 
mass, obtained in a previous work [

eRrx ==

q
1]:  

 

( ) ( )74 0 AimGq imaginarygπε=

  
where  is the imaginary 

gravitational mass, and 
(imaginarygm )

1−=i .  
 
          In the case of electron, Eq. (A7) gives  
 

( )

( )( )
( )( )

( )( ) ( )8106.14

4

4

4

19
03

2
0

2
03

2
0

00

0

ACmG

imG

imG

imGq

realeie

realeie

imaginaryeie

imaginarygee

−×−==

=−=

==

==

χπε

χπε

χπε

πε

 
where we obtain 
 

( )9108.1 21 Ae ×−=χ
 
This is therefore, the value of eχ  increased 
by the strong density of energy produced by 
the electrical charges  of the two particles, 
under previously mentioned conditions.  

e
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          Given that eiege mm 0χ= , Eq. (A6) 
yields        

( )10
2
1

3
0

2

A
R

mG
f

e

eieχ
π

=

  
From Quantum Mechanics, we know that  
 

( )112
0 Acmhf i=

 
where  is the Planck’s constant. Thus, in 
the case of we get 

h
eii mm 00 =

 

( )12
2

0 A
h

cm
f ei=

 
          By comparing (A10) and (A12) we 
conclude that 
 

( )13
2
1

3
0

22
0 A

R
mG

h
cm

e

eieei χ
π

=

 
Isolating the radius , we get: eR
 

( )141087.6
2

14
2

0

3
2

3
1

Am
c
h

m
GR e

ei
e

−×=⎟
⎠

⎞
⎜
⎝

⎛
⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
=

π
χ

 
Compare this value with the Compton sized 
electron, which predicts  
and also with standardized result recently 
obtained of  [

mRe
131086.3 −×=

mRe
131074 −×−= 13].            

         In the case of proton, we have  
 

( )

( )( )
( )( )

( )( ) ( )15106.14

4

4

4

19
03

2
0

2
03

2
0

00

0

ACmG

imG

imG

imGq

realpip

realpip

imaginarypip

imaginarygpp

−×−==

=−=

==

==

χπε

χπε

χπε

πε

 
where we obtain 
 

( )16107.9 17 Ap ×−=χ

 

 Thus, the result is 
 

( )171072.3
2

17
2

0

3
2

3
1

Am
c

h
m
GR p

pi
p

−×=⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
⎟
⎟
⎠

⎞
⎜
⎜
⎝

⎛
=

π

χ
 

          Note that these radii, given by 
Equations ( )14A  and ( , are the radii of 
free electrons and free protons (when the 
particle and antiparticle (in isolation) 
penetrate themselves mutually).  

)17A

          Inside the atoms (nuclei) the radius of 
protons is well-known. For example, protons, 
as the hydrogen nuclei, have a radius given 
by  [mRp

15102.1 −×≅ 14, 15]. The strong 
increase in respect to the value given by Eq. 
(A17) is due to the interaction with the 
electron of the atom.  
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Appendix B: An Experimental Setup for Testing a GCC with Air Nucleus 
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DETAILS OF PARTS 
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DETAIS OF THE BOX 
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We show that it is possible to produce strong gravitational accelerations on the free electrons of a conductor in order to obtain electrical current. This allows the conversion of gravitational energy directly into electrical energy. Here, we propose a system that can produce several tens of kilowatts of electrical energy converted from the gravitational energy. 
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1. Introduction

          In a previous paper [1], we have proposed a system to convert gravitational energy into rotational kinetic energy (Gravitational Motor), which can be converted into electrical energy by means of a conventional electrical generator. Now, we propose a novel system to convert gravitational energy directly into electrical energy.   

           It is known that, in some materials, called conductors, the free electrons are so loosely held by the atom and so close to the neighboring atoms that they tend to drift randomly from one atom to its neighboring atoms. This means that the electrons move in all directions by the same amount. However, if some outside force acts upon the free electrons their movement becomes not random, and they move from atom to atom at the same direction of the applied force. This flow of electrons (their electric charge) through the conductor produces the electrical current, which is defined as a flow of electric charge through a medium [2]. This charge is typically carried by moving electrons in a conductor, but it can also be carried by ions in an electrolyte, or by both ions and electrons in a plasma [3].  

          Thus, the electrical current arises in a conductor when an outside force acts upon the free electrons. This force is called, in a generic way, of electromotive force (EMF). Usually, it is of electrical nature 
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Here, it is shown that the electrical flow can also be achieved by means of gravitational forces
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. The Gravitational Shielding Effect (BR Patent Number: PI0805046-5, July 31, 2008 [4]), shows that a battery of Gravitational Shieldings can strongly intensify the gravitational acceleration in any direction and, in this way, it is possible to produce strong gravitational accelerations on the free electrons of a conductor in order to obtain electrical current. 

2. Theory


          From the quantization of gravity it follows that the gravitational mass mg and the inertial mass mi are correlated by means of the following factor [1]:
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where 
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          When 
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 is produced by the absorption of a photon with wavelength
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. In this case, Eq. (1) becomes
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 is the De Broglie wavelength for the particle with rest inertial mass 
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           It has been shown that there is an additional effect - Gravitational Shielding effect - produced by a substance whose gravitational mass was reduced or made negative [5]. The effect extends beyond substance (gravitational shielding) , up to a certain distance from it  (along the central axis of gravitational shielding). This effect shows that in this region the gravity acceleration, 
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 and 
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 is the gravity acceleration before the gravitational shielding).  Consequently, after a second gravitational shielding, the gravity will be given by
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for the second gravitational shielding. In a generalized way, we can write that after the nth gravitational shielding the gravity,
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, will be given by
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          This possibility shows that, by means of a battery of gravitational shieldings, we can make particles acquire enormous accelerations.  In practice, this can lead to the conception of powerful particles accelerators, kinetic weapons or weapons of shockwaves.

          From Electrodynamics we know that when an electromagnetic wave with frequency 
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 incides on a  material  with relative  permittivity 
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, its velocity is reduced to 
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 is the index of refraction of the material, given by [6] 
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Thus, the wavelength of the incident radiation (See Fig. 1) becomes
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[image: image34.emf]                  Fig. 1  –   Modified Electromagnetic Wave .  The  wavelength of the electromagnetic wave  can be   strongly reduced ,  but  its frequency  remains the same .  
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        If a lamina with thickness equal to
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 contains 
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 atoms/m3, then the number of atoms per area unit is

[image: image37.wmf]x


n


. Thus, if the electromagnetic radiation with frequency 
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 atoms. If it incides on the total area of the lamina,
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 is the Avogadro’s number; 
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 is the matter density of the lamina (in kg/m3) and A is the molar mass(kg/kmole).               

          When an electromagnetic wave incides on the lamina, it strikes 
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 is the “diameter” of the atom. Thus, the electromagnetic wave incides effectively on an area 
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 is the cross section area of one atom. After these collisions, it carries out 
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[image: image53.emf]                    Fig. 2   –  Collisions inside the   lamina .     
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Thus, the total number of collisions in the volume 
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The power density,
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, of the radiation on the lamina can be expressed by
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           We can express the total mean number of collisions in each atom,
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Since in each collision a momentum 
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 is transferred to the atom, then the total momentum transferred to the lamina will be 
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. Therefore, in accordance with Eq. (1), we can write that
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Since Eq. (8) gives 
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Substitution of Eq. (12) into Eq. (11) yields
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Substitution of 
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given by Eq. (9) into Eq. (13) gives




[image: image67.wmf](


)


(


)


(


)


(


)


14


1


1


1


2


1


2


0


2


0


ï


þ


ï


ý


ü


ï


î


ï


í


ì


ú


ú


ú


û


ù


ê


ê


ê


ë


é


-


ú


ú


û


ù


ê


ê


ë


é


÷


÷


ø


ö


ç


ç


è


æ


÷


÷


ø


ö


ç


ç


è


æ


+


-


=


l


x


c


m


S


n


f


D


S


N


m


m


l


i


l


m


f


l


i


l


g




Substitution of
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  into Eq. (14) results
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where 

[image: image71.wmf](


)


(


)


(


)


l


l


l


i


V


m


r


=


0


. 

         Now, considering that the lamina is inside an ELF electromagnetic field with 
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, then we can write that [7]
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Substitution of Eq. (16) into Eq. (15) gives
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In the case in which the area 
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is just the area of the cross-section of the lamina
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 According to Eq. (6) we have
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Substitution of Eq. (19) into Eq. (18) gives 
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Note that 
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          Now consider the system shown in Fig.3. It was designed to convert Gravitational Energy directly into Electrical Energy. Thus, we can say that it is a Gravitational EMF Source.

          Inside the system there is a dielectric tube (
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. The tube is filled with air at ambient temperature and 1atm. Thus, inside the tube, the air density is
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The number of atoms of air (Nitrogen) per unit of volume, 
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, according to Eq.(7), is given by
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          The parallel metallic plates (p), shown in Fig.3 are subjected to different drop voltages. The two sets of plates (D), placed on the extremes of the tube, are subjected to 
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, while the central set of plates (A) is subjected to 
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. Since 
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, then the intensity of the electric field, which passes through the 36 cylindrical air laminas (each one with 5mm thickness) of the two sets (D), is 
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and the intensity of the electric field, which passes through the 19 cylindrical air laminas of the central set (A), is given by 
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          Note that the metallic rings (5mm thickness) are positioned in such way to block the electric field out of the cylindrical air  laminas. The objective is to turn each one of these laminas into a Gravity Control Cells (GCC) [5]. Thus, the system shown in Fig. 3 has 3 sets of GCC. Two with  18 GCC each,  and one with 19 GCC. The two sets with 18 GCC each are positioned at the extremes of the tube (D). They work as gravitational decelerator while the other set with 19 GCC (A) works as a gravitational accelerator, intensifying the gravity acceleration produced by the mass 
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 given by Eq. (21) and 
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 is the distance between the center of the Lead sphere and the surface of the first GCC of the set (A). 


          The objective of the sets (D), with 18 GCC each, is to reduce strongly the value of the external gravity along the axis of the tube. In this case, the value of the external gravity,
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. For example, if the base BS of the system  is  positioned  on  the Earth 
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          Note that there is a uniform magnetic field, 
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The factors 
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 are due to the electrons, protons and neutrons are inside the magnetic field B. 


          In order to make null the resultant of these forces in the Iron (and also in the sphere) we must have 
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          It is important to note that the set with 19 GCC (A) cannot be turned on before the magnetic field B is on. Because the gravitational accelerations on the Iron rod and Lead sphere will be enormous 
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          The force 

[image: image148.wmf]e


F


 is the electromotive force (EMF), which produces the electrical current. Here, this force has gravitational nature. The corresponding force of electrical nature is
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The electrons inside the Iron rod (See Fig. 3) are subjected to the gravity acceleration produced by the sphere, and increased by the 19 GCC in the region (A). The result is
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Comparing Eq. (32) with Eq.(33), we obtain
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The electron mobility,

[image: image153.wmf]e


m


, considering various scattering mechanisms can be obtained by solving the Boltzmann equation in the relaxation time approximation. The result is [9]
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Thus, the drift velocity will be expressed by 
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and the electrical current density expressed by
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Similarly, in the case of proton and neutron we can write that
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The radius of free electron is 
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 (See Appendix A) and the radius of protons inside the atoms (nuclei) is 
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, then we obtain from Eqs. (41) (42) and (43) the following expressions:
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 EMBED Equation.3  [image: image193.wmf](


)


45


1


10


35


.


2


1


2


1


2


4


9


ï


þ


ï


ý


ü


ï


î


ï


í


ì


ú


ú


û


ù


ê


ê


ë


é


-


´


+


-


=


@


-


f


B


rms


Bp


Bn


c


c


Then, from Eq. (31) it follows that  
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Substitution of Eqs. (44) and (45) into Eq. (46) gives 
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Consequently, Eq. (44) and (45) yields
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In order to the forces 
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          Note the cylindrical format (1turn, 
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          Let us now calculate the current density through the Iron rod (Fig. 3). According to Eq. (39) we have 
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         The resistance of the Iron rod  is
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Thus, the dissipated power by the Iron rod is 




[image: image238.wmf](


)


56


66


.


0


2


W


i


R


P


source


source


d


@


=


          Note that this Gravitational EMF source is a Current Source. As we known, a Current Source is a device that keeps invariable the electric current between its terminals. So, if the source is connected to an external load, and the resistance of the load varies, then the own source will increase or decrease its output voltage in order to maintain invariable the value of the current in the circuit.  
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          Based on Kirchhoff’s laws we can express the electric voltage between the terminals of the Current Source,
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where 
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 is the voltage applied on the charge. 

          The transformer 
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 connected to Gravitational EMF Source (See Fig. 3) is designed
 to make the voltage 
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; the winding turns ratio is
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; thus, in the secondary circuit the output voltage is 
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          Note that, in order to initializing the Gravitational EMF Source, is used an external source, which is removed after the initialization of the Gravitational EMF Source.  

          Now it will be shown that this Gravitational EMF source can be miniaturized.  

          We start making 
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 (See Fig. 5). The sphere with 2mm diameter is now of Tungsten carbide (W+Cobalt) with 
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  Eq.(21) gives
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, and Eq. (57) yields
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          The resistance of the iron rod is given by
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Thus, the dissipated power by the Iron rod is 
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          In the case of the miniaturized source, the iron rod has 2mm diameter and 10mm height, then we obtain the factor 
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(See table V[12]). Therefore, we obtain 
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  and the resistance of the resistor 
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 (See Fig.5), then the current from the first source is 
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          Since the current through the second source is 

[image: image287.wmf]A


i


source


66


.


1


=


, and, if the voltage required by the charge, is 
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(usual lithium batteries’ voltage), then the source voltage is given by
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Consequently, the miniaturized source can provide the power:
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This is the magnitude of the power of lithium batteries used in mobiles. Note that the miniaturized source  of Gravitational EMF does not need to be recharged and it occupies a volume (8mm x 70mm x 80mm. See Fig.6) similar to the volume of the mobile batteries. In addition, note that the dimensions of this miniaturized source can be further reduced (possibly down to a few millimeters or less). 
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Appendix A: The “Geometrical Radii” of Electron and Proton

          It is known that the frequency of oscillation of a simple spring oscillator is 
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where 
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 is the inertial mass attached to the spring and 
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 is the spring constant (in N·m−1). In this case, the restoring force exerted by the spring is linear and given by 
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where 
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 is the displacement from the equilibrium position.

          Now, consider the gravitational force: For example, above the surface of the Earth, the force follows the familiar Newtonian function, i.e., 
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is the distance between the centers. Below Earth’s surface the force is linear and given by
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where 
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 is the radius of Earth. 

          By comparing (A3) with (A2) we obtain
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In the case of an electron and a positron, we substitute 
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 is the radius of electron (or positron). Thus, Eq. (A5) becomes
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The value of 
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 varies with the density of energy [1]. When the electron and the positron are distant from each other and the local density of energy is small, the value of 
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 becomes very close to 1. However, when the electron and the positron are penetrating one another, the energy densities in each particle become very strong due to the proximity of their electrical charges 
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), we start from the expression of correlation between electric charge 
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where 
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          In the case of electron, Eq. (A7) gives 
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where we obtain
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This is therefore, the value of 
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 increased by the strong density of energy produced by the electrical charges 
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 of the two particles, under previously mentioned conditions. 

          Given that 
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, Eq. (A6) yields       
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From Quantum Mechanics, we know that 
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where 
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 is the Planck’s constant. Thus, in the case of 
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          By comparing (A10) and (A12) we conclude that
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Isolating the radius
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Compare this value with the Compton sized electron, which predicts 
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 and also with standardized result recently obtained of 
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 [13].           

         In the case of proton, we have 
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where we obtain
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 Thus, the result is
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          Note that these radii, given by Equations 
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          Inside the atoms (nuclei) the radius of protons is well-known. For example, protons, as the hydrogen nuclei, have a radius given by 
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 [14, 15]. The strong increase in respect to the value given by Eq. (A17) is due to the interaction with the electron of the atom. 

Appendix B: An Experimental Setup for Testing a GCC with Air Nucleus
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� The electrical conductivity of air, inside the dielectric tube, is equal to the electrical conductivity of Earth’s atmosphere near the land, whose average value is � EMBED Equation.3  ���[� HYPERLINK  \l "t25" ��8�].



� The impedances are respectively, 



� EMBED Equation.3  ���



� EMBED Equation.3  ���� EMBED Equation.3  ��� where � EMBED Equation.3  ��� (iron cast), � EMBED Equation.3  ���,� EMBED Equation.3  ���, � EMBED Equation.3  ���,� EMBED Equation.3  ���,� EMBED Equation.3  ���, � EMBED Equation.3  ���, � EMBED Equation.3  ���. 
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Fig. 3 – A Gravitational EMF Source (Developed from a process patented in July, 31 2008, PI0805046-5)
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Fig. 5 – A Miniaturized Source of Gravitational EMF 
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Fig. 6 – Schematic Diagram in 3D of the Gravitational EMF Sources
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Fig. 4 – Current Source
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Fig. 2 – Collisions inside the lamina.  












atom














Sm









Wave
















_1399371061.unknown



_1399448288.unknown



_1399371050.unknown



_1399358117.unknown



_1399358174.unknown



_1399360191.unknown



_1399359872.unknown



_1399358155.unknown



_1399357807.unknown



_1399358086.unknown



_1399357701.unknown



_1399356557.unknown



_1399357061.unknown



_1399357201.unknown



_1399357292.unknown



_1399356627.unknown



_1399349072.unknown



_1399355271.unknown



_1399349208.unknown



_1399349062.unknown



_1399314392.unknown



_1399346702.unknown



_1399346984.unknown



_1399314399.unknown



_1399308814.unknown



_1399308839.unknown



_1399308974.unknown



_1399308778.unknown



_1398702261.unknown



_1399030774.unknown



_1399123142.unknown



_1399308325.unknown



_1399308565.unknown



_1399133342.unknown



_1399133322.unknown



_1399031535.unknown



_1399033977.unknown



_1399121714.unknown



_1399033512.unknown



_1399030785.unknown



_1398876856.unknown



_1398958262.unknown



_1399030011.unknown



_1399030429.unknown



_1398958234.unknown



_1398702431.unknown



_1398693036.unknown



_1398693721.unknown



_1398693755.unknown



_1398693065.unknown



_1398690045.unknown



_1398690295.unknown



_1398691017.unknown



_1398692093.unknown



_1398690189.unknown



_1398690006.unknown



_1398690033.unknown



_1398689979.unknown



_1396540929.unknown



_1398168688.unknown



_1398224457.unknown



_1398253316.unknown



_1398601901.unknown



_1398602452.unknown



_1398602531.unknown



_1398602676.unknown



_1398605521.unknown



_1398602490.unknown



_1398602033.unknown



_1398602284.unknown



_1398601980.unknown



_1398601210.unknown



_1398601343.unknown



_1398601441.unknown



_1398601321.unknown



_1398601157.unknown



_1398227311.unknown



_1398236058.unknown



_1398252133.unknown



_1398252147.unknown



_1398252457.unknown



_1398236339.unknown



_1398235946.unknown



_1398226155.unknown



_1398226195.unknown



_1398226061.unknown



_1398185803.unknown



_1398185977.unknown



_1398224056.unknown



_1398185819.unknown



_1398168753.unknown



_1398168764.unknown



_1398168700.unknown



_1398062613.unknown



_1398070722.unknown



_1398168661.unknown



_1398168677.unknown



_1398168668.unknown



_1398167833.unknown



_1398168636.unknown



_1398167848.unknown



_1398098372.unknown



_1398099642.unknown



_1398068828.unknown



_1398069797.unknown



_1398069819.unknown



_1398069671.unknown



_1398068011.unknown



_1397105227.unknown



_1398062326.unknown



_1398062540.unknown



_1397106139.unknown



_1396541025.unknown



_1396621761.unknown



_1396621769.unknown



_1396688995.unknown



_1396541039.unknown



_1396540959.unknown



_1396541016.unknown



_1396540946.unknown



_1386165950.unknown



_1389093409.doc






















Fig. 1 – Modified Electromagnetic Wave. The wavelength of the electromagnetic wave can be strongly reduced, but its frequency remains the same.
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